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TrigonometryExercise6 Answers for No.11996
- M @
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T Sm 3n
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6 6 4
T Sm T S5m Tn 1lx
5: O,_,_,TC 6: Oa_a > T,
L 6 6 6 6 6 6
M @
Am:[.]:[sol 2=[30 ]} |a M
3=[0,45"] .4=[0] t U
h T
.1 =[90°210° 330°] .2=[120°180° 240°]
Ans4=|.3=1[0,180° 210°, 330°] 4=[45"]
.5=10,90° 180°] .6=[30°90° 150°, 210°,270°, 330°]
1 5 1 5
.]={—n+2nn,—n+2nn} .2={—n+nn,—n+nn}
3 3 6 6

Ans3 = 1 5 1 3
.3:[2nn,—n+2nn,n+2nn,—n+2nn} .4:{—n+nn,—n+nn}
3 3 4 4
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TrigonometryExercise6 Answers for No.12889
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Ans2 = .3:[0, T, } 42{—}
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Ans3:[ 1=160°] 2= [60 ]} a M
3=[0,45"] .4=[0] t U
h T
1 =[30°150°,270°] .2=[30°90° 150°]
Ans4=|.3=160°90°,270°, 300°] 4=[45°]
5=10,45°180° 225°] .6=10,30° 150°, 180°, 210°, 330°]
7 11 1 5
A=|"n+2nm,—Tm+2nm 2=|"mn+nm, " T+NT
6 6 6 6

AnsS = 1 5 3 1 3
,3:[—n+2nn,—n+2nn,—n+2nn,—n+2nn} ,4:[—n+nn,_n+nn}
2 4 2 4 4
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TrigonometryExercise6 Answers for No.12890

n M @]
1=[] .2= ? a M
Ansl = n , |t U
3{& 4=[0] h T
) L:) )
. nT 5215} _1:711 3rn 1171}
1672 6 L6’ 27 6
T Sw 3m
Ans2 = .3:[ ,—,—,n} .42{_}
6 6 4
o 5w T 5w Tn 1l=x
S= O,_,TC,_ 6= 09_7 , TC, D
i 4 4 6 6 6 6 1
M @
Ans3:[1=[600] .2=[300]}, |a M
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.1 =[90° 210° 330°] .2=[60° 180° 300°]

Ans4=| .3=10,180° 210°, 330°] 4=[45°]
5 =[45°90°,225° 270°] .6=[0,60° 120° 180°, 240°, 300°]
1 5 1 5
A=|—"n+2nn,—n+2nn| 2=|"N+nNN, " T+NT
6 6 6
AnsS =
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TrigonometryExercise6 Answers for No.12891
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5: 05_7n = _9_9 b 9 b
L 2 3’233 2" 3 1]
M @
Ans3:[1=[600] 2=[30 ]} a M
3=[45°] 4=[0] t U
h T
.1 =10,60° 300°] .2=[120°180° 240°]
Ans4=|.3=1090°120° 240°, 270°] 4=[45°]
5=10,30° 150°, 180°] .6=10,60° 120°, 180°, 240°, 300°]
7 1 5
A= _TE+2nTE n+2nn 2=|"m+nm,-n+nmn
6 6 6
Ans5 =

1 5 3 1 3
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TrigonometryExercise6 Answers for No.12917
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An&Sz[ 1=11 .2=[30£} |a M
3=[0,45"] .4=[30"] t U
h T
1 =[120°180° 240°] .2=[30°90°, 150°]
Ans4=|.3=10,180° 210°, 330°] 4=[135"]
5=[0,180°] .6=10,60° 120° 180°, 240°, 300°]
1 5 1 2
.]={—n+2nn,—n+2nn} .2=[—n+nn,—n+nn}
6 6 3 3

Ans3 = 1 5 3 1 2
.3z[—n+2nn,—n+2nn,—n+2nn,—n+2nn} .4:[—n+nn,—n+nn}
2 4 2 3 3
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TrigonometryExercise6 Answers for No.13099
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3=[30°] .4=[45°] t U
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1 =[90°210° 330°] .2=[210°,270° 330°]
Ans4 =|.3=[90°, 120°, 240°, 270°] 4=1[45%]

.5=10,45°180°225°]1 .6=[60°90° 120°, 240°, 270°, 300°]

1 5 1 2
A=|—"n+2nn,-n+2nmn 2=|Tnm+nn, T T+NT
6 6 3

AnsS = 3

1 1 5
.3:[2nn,—n+2nn,n+2nn} .4:{—n+nn,—n+nn}
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TrigonometryExercise6 Answers for No.13100
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1.3=[0,45"] .4=[0] t U
h T
1 =[120° 180°, 240°] .2=[30°150° 270°]
Ans4=| .3=[0,30° 150°, 180°] 4=[315]
5=[45°90°225° 270°] .6=[60° 90°, 120°, 240°, 270°, 300°]
7 11 1 2
A=|-n+2nn,—7m+2nm 2=|TN+nN,TT+NT
AnsS — 6 6 3 3
5= 1 5 1 5
3={2nn,"n+2nn,n+2nn, " n+2nm| 4=|"n+nm, T T+ANT
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TrigonometryExercise6 Answers for No.13139
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6 6 4
nn St 7n 3n 1ln
5:[(), TC] 6= T 5 s 5
L 6 2 6 6 2 6
M @
Ans3:[ I=[] 2=[60 ]} a M
3=[45"] .4=[0] t U
h T
1 =[120° 180°, 240°] .2=[60° 180° 300°]
Ans4=| .3=[0,30° 150°, 180°] 4=[135]
5=[45°90°225° 270°] .6=[60° 90°, 120°, 240°, 270°, 300°]
1 5 1 2
A=|—"n+2nn,-n+2nmn 2=|TN+nN,TT+NT
6 6 3 3
Ans5 =

1 5 1 3
.3:[2nn,—n+2nn,—n+2nn,n+2nn} .4:{—n+nn,—n+nn}
6 6 4 4
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TrigonometryExercise6 Answers for No.13411
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o8 S5n T 27 4t Sn
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M @
Ans3:[1=[30] .2=[300]}, |a M
3=[0] .4=[30"] t U
h T
1 =[120° 180°, 240°] .2=[30°150° 270°]
Ans4=|.3=1[60°90° 270°, 300°] 4=[315]

.5=10,30° 150° 180°] .6=[60°90°, 120°, 240°, 270°, 300°]

1 5 1 2
A=|"n+2nn,-n+2nmn 2=|Tnm+nn, T T+NT
3 3 3 3
AnsS =

1 1 3
.3:[2nn,—n+2nn,n+2nn} .4:{—n+nn,—n+nn}
2 4 4
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